BILANS ROBOT ZIEMNYCH odcinka W5 — W13

powierzchnia

$r powierzchnia

objetos¢

nadmiar objetosci

suma algebraiczna

odlegtosé zuzycie na
Kilometr | hektometr —"Y<OP. | nasyp | wykop [ nasyp wykop | nasyp | miejscu | wykop | nasyp wykop nasyp
+ ‘ - + ‘ - mb + ‘ - m3 + ‘ - + -
m2 m2 m3 m3 m3
0,00

0,00 2,36 0,00 0,00 -
1,69 0,07 7,30 12,30 0,51 0,51 11,79 0,00

7,30 1,01 0,14 11,79 -
0,98 0,15 26,70 26,17 3,87 3,87 22,29 0,00

34,00 0,95 0,15 34,08 -
0,86 0,08 35,00 30,10 2,80 2,80 27,30 0,00

69,00 0,77 0,01 61,38 -
1,14 0,01 27,00 30,65 0,27 0,27 30,38 0,00

96,00 1,50 0,01 91,76 -
1,43 0,01 23,50 33,61 0,12 0,12 33,49 0,00

119,50 1,36 0,00 125,25 -
1,35 0,00 12,80 17,22 0,00 0,00 17,22 0,00

132,30 1,33 0,00 142,46 -
1,43 0,00 31,80 45,32 0,00 0,00 45,32 0,00

164,10 1,52 0,00 187,78 -
1,53 0,00 22,90 35,04 0,00 0,00 35,04 0,00

187,00 1,54 0,00 222,81 -
1,43 0,00 15,00 21,38 0,00 0,00 21,38 0,00

202,00 1,31 0,00 244,19 -
1,37 0,00 16,05 21,99 0,00 0,00 21,99 0,00

218,05 1,43 0,00 266,18 -

[ RAZEM | [ 2737 | 76 76 2662 | 00 [ 266,18 |




